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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) converted 2) transferred 3) attributed 4) debilitated

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) elicited 2) evacuated 3) extended 4) evicted

3- We have a ---—------- clientele in our language program, with students from Asia, Europe
and South America.
1) diverse 2) haphazard 3) complex 4) symmetrical

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) advocacy 2) justification 3) rivalry 4) inclination

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) insensitive 2) incontrovertible  3) unintelligible 4) unforeseeable

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) hindrance 2) pretension 3) compliment 4) thrill

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) rationalization 2) caprice 3) provenance 4) breach

8-  Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) verdict 2) fate 3) legality 4) charge

9-  The trial collapsed when it became clear that the main witness for the prosecution was
not ---=------ :
1) singular 2) conjectural 3) credible 4) subjective

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that
members of minority groups are bad people.
1) downplay 2) perpetuate 3) overlook 4) belie
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) ---------- no
tailpipe emissions. Similar to electricity, hydrogen is an energy carrier that can be
produced from various feedstocks. These feedstocks and production methods should
be considered when (12) -—-------- .

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell
Vehicles: Well-to-Wheels Energy and Emission Impacts, analyzed greenhouse gas
(GHG) (13) ---------- 10 of the most common hydrogen production and distribution
pathways. ANL found that gaseous hydrogen produces (14) ---------- GHGs than liquid
hydrogen in most cases. ANL also investigated hydrogen’s effects on petroleum use
and found that using hydrogen as a fuel (15) ---------- petroleum use by nearly %100
regardless of fuel production pathway.

11- 1) that produces 2) producing 3) produce 4) to produce
12- 1) evaluating hydrogen emissions 2) hydrogen emissions evaluated

3) to evaluate hydrogen emissions 4) for hydrogen emissions to evaluate
13- 1) it 1s emitted as 2) to be emitted 3) emissions for 4) 1s emitted for
14- 1) as little 2) fewer of 3) less of 4) fewer
15- 1) reduced 2) to reduce 3) reduction 4) that reduces

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Solar power has been getting more efficient to use and cheaper to acquire. But beyond
the clean energy and the neighborhood bragging rights, there’s a lot more to solar.
Here are some reasons many homeowners go solar:

Solar energy has environmental benefits. We’'re all leaving a carbon footprint,
whether we like it or not. (Our carbon footprint is the damage done by our electricity
usage, vehicle usage, and other carbon dioxide-emitting daily activities.) But we can’t
just stop driving our vehicles and powering our homes, so what can we do? We can
replace our traditional electricity usage with clean solar energy that’s better for the
environment.

Furthermore, when you get solar, you pay less for power. And while every situation
is different, there are multiple routes that can help increase your chances of saving
money with solar. (Your savings opportunities will vary based on your location,
available incentives, home size, power usage, and more.)

New research shows that buyers are willing to pay more for homes with rooftop
solar panels. This may be due to sustainable practices becoming more widely sought-
after. 1t’s easy to see how appealing a solar home can be to a potential buyer: most of
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the paperwork and all of the installation legwork has already been done, and the seller
might already have a good idea of how much energy is being produced each month.
While real estate agents, lenders, and appraisers are still trying to catch up with the
industry_and your home’s total value depends on several factors_it’s a win-win for
many solar homeowners.

Energy prices have been on the rise over the past several years, and it’s not always
certain if or when it’s going to slow down. While you’ll still use some electricity from
your local electric utility, as needed, one advantage of having solar is that your energy
costs are predictable. You’ll have a straightforward finance plan with less surprises in
the long run. And the more you can generate solar and use clean energy to power your
home, the less you are dependent on your local electric utility.

What does the passage mainly discuss?

1) Challenges of solar energy for the utility

2) Why solar energy is used

3) Environmental benefits of using solar energy

4) The different uses of solar energy

What does “it” refer to in the following sentence of the second paragraph?

We’re all leaving a carbon footprint, whether we like it or not.

1) Carbon footprint 2) We're leaving a carbon footprint

3) Carbon 4) footprint

Which of the following is not mentioned as a factor in the amount of benefit gotten from
solar panel installation?

1) initial investment value 2) prize for solar usage

3) house’s place 4) electrical energy usage

“sustainable” in this sentence is close in meaning to all of the following, EXCEPT ------- -
This may be due to sustainable practices becoming more widely sought-after.

1) continual 2) green 3) temporary 4) viable

According to the passage, which of the following is NOT mentioned as the reason why
homeowners use solar energy?

1) Solar panels can provide savings over time.

2) Solar panels can help protect against unexpected energy costs.

3) Solar energy is easy to harness.

4) Solar panels may increase your property’s value.

PASSAGE 2:

Nowadays, the devices which are made by electrical engineers have come to different
aspects of life, one of which is food tracking. People looking to track their diets and
count their calories can choose from dozens of apps. But using the apps properly
requires a lot of etfort.

There’s a huge problem with self-reporting. Imagine that you’re passing by the
kitchen at work and there’s a bowl of strawberries, and you grab a couple. Are you
going to pull out your smartphone and take a picture, then enter the information that
you just ate three strawberries?

That’s why researchers are developing passive devices that monitor eating
behavior. As long as people wear the device, the tech takes care of the rest.
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Researchers are experimenting with sensors that directly record food going into the
mouth and down the gullet, and they hope to eventually turn their lab gizmos into
commercial products.

One of these gadgets is the Automated Ingestion Monitor (AIM), which detects the
muscle motions involved in every chew. The gadget clips onto a pair of eyeglasses,
and it contains two sensors: a strain sensor that presses lightly against the temple to
monitor the contractions of the temporal muscle, and an accelerometer that picks up
the subtle movements of the jaw. When the system detects food intake, it triggers a
tiny camera (also tucked into the gadget) to take a photo every few seconds, thus
creating a
time-stamped visual record of the food consumed. This gadget captures detailed
information about a person’s eating patterns: 1t measures how fast someone is eating,
and how many chews they take for each bite.

Another gadget is the Dental Antenna, which is a tiny tooth-mounted device that
can monitor people’s consumption of all sorts of toothsome things, including salt, and
sugar. The sensor is composed of an inner layer of polymer film sandwiched between
two gold rings that act as antennas. When the film absorbs certain chemicals, it swells
and pushes the gold rings apart. Each substance causes the film to thicken up to a
different degree, so the distance between the gold rings indicates which chemical
passed over the tooth. This system bounces radio waves off the tooth and records the
spectrum and intensity of the wave that returns from the antenna. While salt and sugar
are high on the list of problematic foods that consumers want to track, the sensor’s
film could theoretically be tuned to detect all manner of different comestibles.

Based on the passage, why are the devices mentioned in the passage preferred for diet
tracking?

1) Because they can be used to detect many aspects of the food.

2) Because they are made by electrical engineers.

3) Because using these devices, people will manually report their food intake.

4) Because people are reluctant to use active devices.

Which one cannot be measured by the sensors of the Automated Ingestion Monitor?

1) temperature 2) acceleration 3) pressure 4) strain

Which one is closest in meaning to “trigger” in the following sentence of the fourth
paragraph:

When the system detects food intake, it triggers a tiny camera (also tucked into the
gadget) to take a photo every few seconds, thus creating a time-stamped visual record of
the food consumed.

1) accelerate 2) halt 3) actuate 4) charge
The Dental Antenna is installed on the -=-==----- 5
1) temporal area 2) tooth 3) glasses 4) tongue

Which of the following statements is true based on the passage?

1) The Automated Ingestion Monitor sends data to the smartphone via Bluetooth.
2) The Dental Antenna can measure how fast somebody is eating.

3) The gadget that detects muscle motions clips onto a headband with two sensors.
4) The Dental Antenna can recognize different characteristics of food.
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PASSAGE 3:

Self-driving cars rely on artificial intelligence to work. The 2010s were a great decade
for Al. We saw big advances in translation, speech generation, computer vision and
object recognition, and game-playing. Al used to have a hard time identifying dogs in
pictures; now that’s a trivial task.

It’s this progress in Al that drove the optimistic predictions for self-driving cars in
the mid-2010s. Researchers anticipated that we could build on the amazing gains
they’d seen (and are still seeing) in other arenas.

But when it came to self-driving cars, the limitations of those gains became very
apparent. Even with extraordinary amounts of time, money, and effort invested, no
team could figure out how to have Al solve a real-world problem: navigating our roads
with the high degree of reliability needed.

Much of the problem is the need for lots of training data. The ideal way to train a
self-driving car would be to show it billions of hours of footage of real driving, and
use that to teach the computer good driving behavior. Modern machine learning
systems do really well when they have abundant data, and very poorly when they have
only a little bit of it. But collecting data for self-driving cars is expensive. And since
some events are rare_witnessing a car accident ahead, say, or encountering debris on
the road_it’s possible for the car to be out of its depth because it has encountered a
situation so infrequently in its training data.

Carmakers have tried to get around this in lots of ways. They’ve driven more miles.
They’ve trained the cars in simulations. They sometimes engineer specific situations
so that they can get more training data about those situations for the cars. And they are
getting closer. Waymo cars do roam the streets with no one behind the wheel. If all
goes well, they may expand to more cities later this year. Self-driving cars have the
potential to take people out of high-risk working environments and streamline our
industries. However, i1t’s a hard problem, and progress has been slow.

What can be the title of this passage?

1) What does a world with self-driving cars look like?

2) Why is it taking longer than expected to get self-driving cars on the road?

3) How exactly do self-driving cars work?

4) What role does policy play in the development of self-driving cars?

According to the author, what is the main reason reliable navigation of the roads has not
been met yet?

1) Al cannot solve real world problems.

2) Investment on this technology was insufficient.

3) We need lots of training data.

4) Al technology has not improved enough.

For collecting enough data for self-driving cars, engineers have done the following
EXCEPT ---------- ;

1) using more modern cars

2) engineering some of the driving situations

3) training the cars in simulations

4) driving more in the training stage
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What is the antonym for “streamline”?

Self-driving cars have the potential to take people out of high-risk working

environments and streamline our industries.

1) integrate 2) revise 3) consolidate 4) sophisticate

All the following are true, EXCEPT ---------- 3

1) Al cannot identify dogs in pictures.

2) Efficiency of modern machine learning systems rely on the number of training data
available.

3) It is not easy to collect data for self-driving cars.

4) A lot of effort has been dedicated to using Al for solving how to navigate the roads.
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